Lo L2.61 =2 = Lz. 1

L= 3 LOJ 0

3 56( ) +35¢0)=5¢

Ry Béids 35(0 =35 L’d \
37:0-g 1 B60) + 25 =2 Lu.\ \
Ul 2391 LECD ASL)> Y a, LA
153 Byl L6 () +35 (3)= 7 g.7L51)

Fé] [H4Tq 1 L) +35(8) =0
1 gel(56,35): 7= 56(2)*’35(-3)




" 1

i A Lo O )
2. — " a9 "\

- O | SO

Bﬁ—fﬂ 12] \ _7 -\ R 5 I'_.S,%?—_‘:J\_——
Msl213 H6 | 3al)=3
Dp1ug 7 -4 23 [M]=2
$paady -l 22O Ll




L2073

Use the Extended Euclidean Algorithm to find integers x and
y such that 408z + 170y = ged(408, 170).

=2

]

X Y T 9
| o | 4o o,

o |\ | (o] ©

\ |2 | 68 | X

2 |5 39|12
5 1-x | ©

2

- 108 ¢ (70(5) =3M=gcd (408, 170)



L-2oPH

@u\ck bc)‘l‘es




L2 Py

Use the Extended Euclidean Algorithm to find integers z and
y such that 399x — 2145y = ged(399, —2145).
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